PSAC 2020-2021

Examiners’ Report — Modern Chinese



INTRODUCTION

The 2020/2021 Modern Standard Chinese PSAC Question Paper was based on the prototype
paper set by the Mauritius Examinations Syndicate. A 4t cohort of Grade 6 students sat for
the Primary School Achievement Certificate (PSAC) Examination, as part of the ongoing

Nine-Year Continuous Basic Education (NYCBE) reform.

The Modern Chinese assessment focuses on the following areas:
1. Reading Comprehension (40%)

2. Writing (30%)

3. Grammar and Vocabulary (30%)

These assessment objectives are in line with the goals and objectives of the National
Curriculum Framework (NCF) for Primary Education. A variety of tasks were set at different
levels underpinning the principle of greater fairness to allow students from the whole

spectrum of the ability range to demonstrate their proficiency levels.

General Comments

The 2020/2021 Modern Standard Chinese PSAC Question Paper was based on the prototype
paper set by the Mauritius Examinations Syndicate. 57% of the candidates passed the
examinations, among which 14% of the candidates got grade A. Nevertheless, there were
still 43% of the candidates who were unable to attain a pass mark in the subject. Teachers
should give greater consideration to this, and should investigate into its causes in order to

improve pupils’ performance.

Specific Comments

Question 1A

The purpose of this question is to assess candidates’ knowledge of common vocabulary. It
relates to the labelling of 5 pictures and carries a total of 5 marks. Most candidates could
not cope well in this exercise. Among the 205 candidates, 67 of them scored 0 marks. Many

candidates were unable to write “#E T /AKAR” , “W<=" and “Mi/#+” . Some candidates

wrote “TSH//KIE” and “Hi/31%)” incorrectly.



Question 1B

The purpose of this question is to assess candidates’ reading comprehension ability at a
basic level. It is done through tasks which require candidates to match a sentence to the
corresponding picture. It carries 5 marks. This was the most popular question. Most

candidates did very well here.

Question 2A

The question consists of 10 multiple choice items and carries 10 marks. A range of
grammatical structures were tested through multiple-choice items in this question. This year,
the use of adverb of degree, the verb forms, measure word, basic comparison with "bi",
conjunction, interrogative pronoun, personal pronoun, prepositions were assessed.

Candidates did not perform well. The poor performance in this question revealed pupils’

poor knowledge of Chinese grammar.

The best done items were:

Item 3 XA HEFHIRAEE.

Item 4 BARAX B4 KKA, HEKERZRE K.

Item 5 HFEFHCOR 26 5

Item 8 AN AN TERIR B %, BRATTEE —d 25830 T

The following items were found challenging:

Item 1 5K SGIVA B JLAETAR. Many candidates still have difficulties with the use of
adverb of degree, so they wrongly gave “ K& JL” « “/NgiJL” or “Z L7 as an

answer.

Item 2 AR FHEJLNF

Many candidates chose “1%” and “7&” as these verbs are often used with the particle
“#” . However here the only answer should be “’5” as there is the location phrase “H
B _E.” which implies that the verb has to be a static one.

Item 6 T/EMRMEBERHREGEAIAH. Should the candidates pay particular attention

to the key word “ N/ ME” which means next week, obviously they would have been

able to determine that they have to choose the verb which has been conjugated in future

tense. In Chinese, “V&+verb” is used to express negation of past action. “Verb + 1 ” is
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usually used to indicate the past tense, whereas “Verb+52” is usually used for action which
is completed.

Iltem 7 PELERF)L? FE XL 45, Many candidates wrongly provided “f1+4” as answer,
as they were distracted by the word “43” found in the answer sentence, they thought that
the question is looking for an interrogative pronoun which is used to enquire about an
object. Some even chose “/E41£” , which is obviously a wrong answer as it is usually used
to ask for the state or condition of something. These candidates did not understand the
context of the sentence.

Item 9 FLAUBRIESE, BRFIEEE T . Some candidates still have difficulties with the use of
conjunction. Moreover, it seems that they did not understand the meaning of the sentence,
it seems that many of them have chosen an answer at random.

Item 10 #F B A #4FU5. Many candidates wrongly provided “Z” and “4” as answer.

It is to be noted that “/=” and “#5” is usually associated with “[)” and “i1”

Question 2B

For this task candidates were required to deal with vocabulary in context, through multiple-
choice items. Most of the candidates had problems in choosing the right answers, hence

they scored fewer marks.

The best done items were:

ltem 1 EEMEETIRIE /) MBZIEETTIH.
ltem 3 40T 1, AT RELFE M.

Item 5 SKHEFRAFIMMKIZE T, HESL—STHH

The following items were found challenging:

Item 2 5 5K T, HFTHIELIHEBIRA .-

Some candidates wrongly gave “fSA<HRI” or “/KIE” as answer. Most candidates had
problems in choosing the right answer. It seems that the students have a poor vocabulary.

Teachers are advised to give more vocabulary exercises related to profession.

Item 4 LT e, FMESAEGEL EF . Many candidates had difficulties to

5/ 9

choose the right answer. Instead of choosing “##2” , they chose “fif1” . Hence, they



could not score marks in this item. Teachers are advised to teach their students how to look
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up for key words in the sentence. Here the measure word “f4” and the verb are

key words which are helpful for choosing the right answer.

Question 3

Question 3 assesses the candidates’ ability to read with understanding at an intermediate

level, in particular the ability to locate explicit information from the text. A satisfactory

performance could be noted for this question. The passage set was about an essay

competition notice. In this question, candidates were required to answer 10 questions of 1

mark each. Candidates are required to give answers drawn directly from the text provided.

Most items were generally well answered by candidates; however, the following items were

found to be challenging.

Item 1 IXJEAtA4LLFE?

The expected answer was: 1E X [E3E. Some candidates wrongly gave “JRALE KT ” or
“EFRF” , hence they could not score any marks.

Item 2 A A EHILFE? The expected answer was: A | PFRARE R .

Some candidates wrongly provided “H 111524 ” as an answer. It seems that the candidates

did not understand the meaning of “>N 71”7, they just followed the structure of the

guestion in the text and tried to deduce an answer.

Item 7 LL3E LS U6 ? The expected answer was: +— /5.

Some candidates gave “+— i F+ &7 or “+ 7 asanswer.

Question 4

Question 4 was split into two parts: 4A and 4B.

This type of comprehension passage is of higher order compared to that of Question 3.
Candidates’ ability in reading comprehension was assessed through their understanding of
the extended passage. The narrative passage set was about a boy named Li Li who
witnessed his grandmother’s mobile phone being snatched by two thieves who were on a
motorcycle. Li Li followed the thieves till a house and saw where they placed his
grandmother’s mobile phone. Then he rushed to the nearest police station to seek for help.

Finally, the thieves were caught and Li Li’s grandmother got back her mobile phone.



Only a few candidates demonstrated excellent understanding of the passage and scored full
marks. Many had problems in reading with understanding. Teachers should encourage

pupils to read stories in the language.

Question 4A

Question 4A assesses candidates’ ability to locate explicit information from the context
through the multiple-choice items. It consists of 5 multiple-choice questions, carrying 1
mark each. Candidates performed satisfactorily.

The best done items were:

Item 1 2370 R AR HATZE 5o

Item 2 95 | MBS E T b

Item 4 DI MANIEFHILZIZERME .

The following items were found challenging:

Item 3 425375 B W g EIE L B, fIEGHIHERERK -

Some candidates wrongly gave “FRE AN as they did not read carefully. Some even
gave “HUFEEL” as an answer, as they did not understand the story. They just drew the
information at the end of the text.

Item 5 #EFET, =V ENDIEHKIFEZ. Some candidates wrongly provided “M#iff]” or

“DLOI” or “ZEHI” as answer. It seems that the candidates do not know the meaning

of these words and they just chose an answer at random.

Question 4B

Question 4B tests candidates’ ability in reading comprehension. It carries 10 marks. This
extended reading comprehension task goes beyond literal understanding of a text and a
range of reading comprehension skills are assessed. Candidates were required to identify
central themes and ideas, infer the meaning of unfamiliar words, locate explicit information
and provide a personal response. Performance has shown that in general candidates have
not acquired these finer reading skills.

It was noted that some candidates were confused for questions which comprise of two parts
(item 1 and 3). These candidates wrote both answers on the answer line (i). They should

have split the answers and fill up the answer line (i) and (ii).



The following items were less well done.

Item 1 35— Ui A2 EREEED Y THLH

The expected answers were: (i) 412 7 @50 B ih WImf i, — IR AN MEEFE L F Bk
TR GO B NRRHZE T D595 Tl

Many candidates provided the two answers on the first answer line and left the second
answer line empty. For them, there was only one answer as the two required elements were

found in the same sentence.

Item 2 2532/ N OHERAE PR DR NG T . Ui — DA 9 A2 “/oHh”

The expected answer was: [K At A4 PN ENE B/ R

This question was rather challenging as the candidates had to understand and formulate the
answer themselves, as the answer cannot be inferred directly from the text. Some
candidates answered by “HAMATERE T —NMKETF. 7 or “NKEFNETIEHE
FUBATIEFHLE] 746”7 hence they could not score any mark for this question.

Item 3 5 — Ui B2 EREH B2 5L

The expected answers were:(i) Z% R 2 7R AIZE To (i) ZE4ERAIGER T .

We also accepted the answer “Z 8235237 & MY HFALK. 7

Many candidates gave “Z%mi T (1. 7 or “—NEZERKFEM . 7 as answers,
therefore they did not score good marks.

Item 5 % MEMCF G 1 00 R R HEB Y -

The expected answer was:

LZEARE A

2B NE T E

3L YR E T LAy

4 B NLAE T AR L 95 )

Some candidates could not put the sentences in a chronological order as they have not

understood the full story. Hence, they could not score good marks.



Question 5

Question 5 was split into two parts: 5A and 5B.

This question assessed candidates’ knowledge of grammar in writing at sentence level.

For question 5A, the candidates had to put the words in order to form a correct sentence. For
qguestion 5B, the candidates had to complete the given sentences. For question 5A, 50
candidates scored full marks and 86 candidates scored 2 marks. For question 5B, only 32
candidates scored full marks. Teachers are advised to practise more these two items to improve

students’ sentence writing skill.

Question 5A

In this question, the candidates required knowledge of syntax in writing the sentences
through re-arranging jumbled words. As in the previous year, only a quarter of the
candidates could score full marks. The influence of English or French syntax were visible in
the question. This question carries 4 marks.

Item 1 The expected answer was: B K] fE2 N K. /Al AEH RSN KN,

Some candidates wrongly wrote : ] B RS KW F. /Al HES F R K.

Item 2 The expected answer was: &t R Z R H .

Some candidates wrongly wrote : & fHIRZ A 1. /EEH TRAFIEZ.

Question 5B

This question also assessed candidates writing at sentence level. Knowledge of syntax was
assessed through the sentence completion task. Only 32 candidates could attempt this
guestion confidently. This question carries 6 marks.

Item 1 is to assess if the candidates could understand the meaning of “/RZl----- 7
which was given in the first part of the sentence. Most of the candidates did not understand
that after “fRE..-.. 7”7 , an immediate action which is related to the first part of the
sentence should follow just after it. Some good answers given by candidates are: “{R% |-
W7, FAIgAEw. 7 oor “PRELRT, HAOIAZEIE T 7

Item 2 is to assess candidates using the associated-word “ ... 58 f5......” to complete the

sentence. The first part of the sentence is given. Many candidates did not use “ZX/5” in



the second part of the sentence. Some good answers given by candidates are: “ {Z5E 1
PRk, SRIEHEHEM. 7 or “HBSLMAEL, REHEE. 7 .

Item 3 is to assess whether the candidates could understand the meaning of “.....FRJH
f£” to be able to complete the sentence. Some candidates were unable to complete the
sentence. Examples of wrong answers written by candidates are: “#& U5 [ 5K HES {5, il
We 7 or “HiHAIZHI R, PEK. 7

Question 6

The cloze-test is a higher order reading task assessing the use of language which requires
the ability to rely on the context to guess the suitable word for filling the blanks. It aimed at
assessing the candidates’ ability to read with understanding. Candidates had to fill in the
blanks with appropriate words from the list of words given. It carries 10 marks. A few
performed well.

This year, the passage set was based on the following story: “All children like their
grandmother. | have the best grandmother in the world. She does not live with me but |
think of everyday. | often write letters to her. | am happy to have her in my life as she is kind.
She lives in a small house near the seaside. When | go to stay with her during the school
holidays, she plays with me. She always cooks my favourite dishes. Every night, we look at
her old pictures together. She tells me interesting stories when she was a child. | enjoy
listening to the stories which grandmother tells me. | am sad when | have to go home.”

A good number of candidates did not earn full marks in this question. They lost marks
because they could not fill in the words: “&&FH” «  “fE4E” . “B¥” . “23]”
and “H E A7 in the appropriate blanks. However, many candidates could not

differentiate between “E” and “f#t” .

Question 7A

This question assessed candidates’ ability to deal with spelling in context. Five short
sentences containing spelling mistakes were set and candidates were required to correct
these mistakes. Some candidates had problems in writing the right Chinese characters,
hence they lost marks. This question carries 5 marks. A few successfully attempted the

exercise.



The best done items were:

Item 1 & R GEFTHEIE ()

Item 4 (545 7 =32 (H) /MY,

Item5 FFEFEER G HHEH.

The following items were found challenging:

Item 2 FAINZ/DIZRNZZE (JE) 3. Some candidates did not understand the meaning
of the sentence at all.

Item 3 ETEEYKRAEZFMAE (k) H. The same as item 2, many candidates did not

understand the meaning of “/KE” .

Question 7B

This question assessed candidates’ ability to write the appropriate Chinese character
according to the provided Chinese pinyin in the given context. Some candidates
demonstrated excellent understanding of the sentences. This question carries 5 marks.

Around one quarter of the candidates got 3 to 5 items correct.

The well-done items were:

Item 2 F1 R IRATBCAF IR L (xIn) &

Item 4 AT REZMEK (shub) .

Item 5 U ATIATIZESEBEF (show) .

The following items were found challenging:

Item 1 HIHA K N = A (fang) % . Some candidates could not differentiate
between “” and “Jil” and wrongly gave “J5” as answer, hence they lost marks.
Item 3 KFEJERE %4 (qudn) . Some candidates did not understand the meaning of

the sentence, all these students lost marks.



Question 8

This question assesses the candidates’ ability to write grammatically correct and meaningful
sentences based on pictures and five given pairs of words. The different sentences should
be linked together with the given words to make up a coherent short story. This question
carries 10 marks. There were 91 candidates who got (6-10) marks.
A number of issues were noted:
* In some cases, candidates wrote sentences by adding only a Personal Pronouns or a
Verb.

113

* Some candidates did not understand the given pair of words in item 3 VAN
{37 and item 4 “IXIf----FEH” , therefore they were unable to write a correct
sentence.

» Some candidates could not use “J&iff” properly.

tem1 — KRB E-—- 5

This was the best done item in Question 8. Candidates produced simple sentences such as

— R, U5 K

—RE L, WS LR,

Nevertheless, some issues related to grammar and syntax were noted. In several cases,

candidates produced flawed sentences such as:

g — R BRI KR

R IRIRK RIS -
ltem2 AA - [EIFR

This item was also well done in Question 8. Candidates produced simple sentences such as:
AR WS T S 5K

Y/ LY LN EIE S

But here also some issues pertaining to grammar were noted, for example:

AN A2 1R 5K

YN ESEIE

Item 3 /Py - e 4L

This item posed difficulty to some candidates as they did not understand the meaning of
“¥%12]” hence they could not write good sentences and lost marks. Some candidates

produced good sentences such as:

10



— AN, W ERE T .

BKIAA NG, WHIEEE T

There were also many sentences containing syntax errors:

s A/ A RS T

AN A A5 T

There were also some candidates who wrote the sentences by adding a personal pronoun.
For example:

ANy, WU

T, s

Item 4 X} ----- 5 Bh

This item was also well done in Question 8. Candidates produced a variety of correct sentences

such as:

R, ALl B 0 N B Tt

R, —AMANER T, AR,

There were also many sentences containing syntax errors:
R ez Bl

XIS A AR B

Item5 HJ5 --—--- R

This item posed some difficulty to candidates. They had to struggle to find the right
vocabulary for writing the grammatically correct sentences. Some candidates produced
good sentences such as:

BRJEABATEISK, AR .

o, USRI 2T

In some cases, candidates did not use “/&if” properly, they produced some sentences
such as:

B e A ATT RS BT

B Ja JAT WIS o

11



Question 9

This question tests the ability of candidates to write a coherent piece of continuous prose of
about 100 words based on a given canvas. It assesses higher order writing skills, especially,
candidates’ ability to develop a given storyline creatively and coherently, use accurate
grammar to express themselves, their ability to use varied sentence structures and the

richness and appropriateness of the vocabulary used. This question carries 10 marks.

The following prompts had been given to guide the candidates:

. FEIRFIA
. K B
. — TR

. BAT
. e

Performance on this question was, on the whole, below expectations. Some candidates
indeed produced good pieces of writing in a satisfactory way. There were only 46 candidates
who got (5-10) marks. A good number of below average candidates did not attempt this
guestion and did not score any mark, the majority of their compositions were full of
grammatical errors. Inappropriate use of case-endings, wrong words, inappropriate verb-
tense usage and sentence writing were noted. This showed that candidates had not
mastered the skills for writing an essay.

The following sample of compositions is an illustration of the strengths and weaknesses

encountered by candidates.

Composition 1 (9—10 43)

EARMT, RAGWR T, RAH, FOUBYE, MR ANEGLb. £, %7
IHEK Bt SRR, T8 — %7, Jomtsk 2l Bk, fbky, hwEs
AN YL CEEREC T AL 7 Bl AR 7 BRI, REMRE
WU TR H, PSR AR L.

This composition is a good piece of work. The candidate made a noticeable attempt to
develop the storyline. The grammar and overall Chinese expression are good. The
vocabulary is wide and precise. The sentence structures are varied. This demonstrates the

candidate’s skill to use different lengths and types of sentences for particular effects.

12




Composition 2 (7—8 43)

SR, BMEE. WL, £l RIRRITL, HERRFEI S —4
B . WA FERIMT, RIRE AN RIMEOM, EREA DK, P
DR E WYt 7, g8 AR R Bk, 7 2L, BRI EER
T MR RO AT, FARTF L

This composition is relevant to the theme set in the examination paper. The writer has
described what happened while he heard a voice “help!” from somewhere. He was able to
express himself when he saw a boy who was in danger. Sentences show some variation in
length and style, including the confident use of good vocabulary “If%” . “H4R”7 |

“TIEAUL” and “# K7 . However, a few errors were noticeable.

Composition 3 (5—6 43)

SREDLATLHEEN, WMEHRAN LR EGH. EiFd, ZriHEKED.
TRy ERE, WY ANETENR Ry, RN, T BATEK BRI AR AET R
PATEERE . BRI AE B, Frdt: “RAEREEL, RIOAEREL. 7 GBI
“RMAERERL. BAMUEAET. 7

From this composition, we could see that the candidate made a noticeable attempt to
develop the storyline. The story is organised and contains enough relevant details. A variety
of simple and complex sentences were used. However, a few grammatical and spelling

mistakes were identified.

Composition 4 (3—4 43)

BN, WAL, REERMEZTAT AR E . B2 T IEHR— %7, 7
DR AT . FATHE . i EF - ADEA. ROFIRELC. REEEE, RATHR &

AVA
/No

This composition is incomplete. In fact, the story is a basic one with little development. It
contains many grammatical mistakes. The sentence structures are very simple and lacks

fluency.

13




Composition 5 (1—2 43)

SRIAERL . ZFANEKEDT. ZPA1R D, — DB . iz AT %K
B AR EMZFAVEARR . EBIEA . RATEZMIA R .

This composition can be categorised as very basic story with very little development. The
vocabulary used are simple and inaccurate. Many grammatical mistakes have been noticed

throughout the story. A few sentences are meaningless.

Recommendations:

The following recommendations can improve the teaching of Modern Chinese as a foreign
language to Mauritian students in primary schools:

1. Teachers should create a better learning environment in classrooms by making use of
blended-learning methodology and interactive strategies.

2. The use of other languages like English, French and Creole should be avoided as far as
possible while teaching Chinese.

3. More emphasis should be laid on vocabulary, grammar, and the application in
sentence writing.

4, Students should be motivated to develop their listening and speaking skills by

communicating in the Chinese language.

Conclusion

Most of the candidates did not have a basic knowledge of the Chinese Language. With
regards to this, teachers should make an investigation into its causes in order to adopt
proper teaching and learning methods. This is the only way to enhance pupils’ interest and

improve performance.
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